Homework #1 (10.8)

1. BREREEANSHNT. BE4 1TB, B FE A 7200RPM, AT &R 84
20ms, EYFERTEHN Sms, H/NFIERE 0.5ms (FERESL T 1E 2 A8 P wLIE A9 Y
[B]) , —MEOEAR/NA 64MB, INRBEIRA/NN 16KB, ERIETEHEE (TEERY
MERNRB/NSE LA -

(1) BRI — MR RMFIIEREZ D (ms) 7

(2) MRFILE 1000 MR, FEXLHARELNDLE D ELEEFME, HAEEX
1000 MEHERBRDFRZ DI E. KIREATHELZPLHNE. FHBERATHEESZD
e (B4 ms)

2. BEIAER DBMS FrR ARI# A/ NEFARE, B0 MySQL -2 16KB, T MS SQL
Server ;& 8KB, HEM—L RS0 HDFS MR 7 BIA 64MB By RER, Lboh, 1% DB2.
Oracle X X o] T RIHE A/ (ELZ0M 8KB E| 64KB) , {EH I DBMS (%A MS SQL
Server) FNXAEEMBERA/N (8KB) o FIXXEMK, FEE T EAEM:

(1) DBMS X i BlE# R A/ NI o] L REZ IR A/ N P FSRER BB T AER =7

(2) BREIRITHIRZRE DBMS At AR 64MB X ERIRBRIRIT?

(3) HAMMEUIREN AEATEXRE DBMS XA 64MB XFEMRBRIZIT? EE—
MBI F 45 AR B9 74T

3. REHARAK/NA 8 KB, RFFHE 200 FTAEKICEK, REHABHE - 8 FHHE
NI —MEHEER. WTHEARANEFRICK, ERBERTEHEIN—D2FTH
BETEEIZICK . RIRGRERAEA 4 FiLx (ZEREHAFBBATPICREER
EERIE) . MBR 2 FiER. BREREROMBRICFKRIESRRXEABANCEKZH, HER
ICXEA— N HERIRIC RBICR A RBERTIIE . S —IHER, WRAIITE
REZ=M, WAKEAEFDZRABAILE? I, ZRA—HEZDFIER?



